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Quiz Review 6.1 to 6.4 Name:

Algebra 1 Period: Date:

Complete problems 1 and 2 using Desmos: I

1. Solve the following systems of equations:
a) 2x+5y=12 b) —3x—4y:—7N
5p=4x+6 \ > ox+12y=11 NO
4 Qi) Soluthon

2. What is the d|fference of the x & y values in the solution to the system:

Sx+4y =32 (q 3} 1

9x—y =33 N ﬂ

3. Solve the following systems of equations using substitution:

a) (P73 | = (43 _é’,i+yfb‘x‘< Y-Gx)c) 15x—fl=12
y=5 X=2 x4p=19 ,q.@((qﬂ—@

_ -ox)~= 4-3.4 (5x- 3(ext)
(0B)-y=s X% (d ("’5_‘0‘ T )
Atb=y=5 X\ r2ux=1] Y7 %Y ) Sy igiq,

an \b=1\9 =12

\l-\ =8 ((o + (b Al Se
-l —b ENE
@ X3k =5 =1
4. Solve the following systems of equations using

a) 4x+y=17 > tg‘ 6x—5y=
Ty=4x-9 YA | =\ Q"sz—7y=15 C'-'L)
Y —Yy -\ __:' =

1=l
"h(+7\/" {z( % T8 I4y =-3)
TN T xEd —ly=:-3
[ y==2
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5. For what value of k will the given system have infinitely many solutions?
2y=14

SR oL Same -

—-9x+ -eiyu afiow

\((-'33: -

< X=2 }IP
6. An artist wants to sell prints of her paintings. She sees that an order with

45 regular photos and 30 glossy photos costs $10.20, and an order with
15 regular photos and 12 glossy photos costs $3.78.

a) Write a system of equations to describe this situation.

USSR+ 2056 =-J0.230

() 15R+12G = 3% ()
b) How much does it cost for each regular photo and each_glossy photo?

«_;gp\-\{*bbfa:lo.a() CgloSij (‘id«
“4SR =3b(= 13 R ¢qin[ar = jo¢

"—‘ﬁéa_ =114 '—tSﬂHD(l‘ﬂ =520
A 4 At 570-(023

¢) How much would 32 regular photos and 12 glossy photos cost? ‘;t_ﬁg ig
(. 10) + \’;(l‘ﬁ) ‘fg:*‘to
3R LR -‘ '

7. Jacelyn has 75 coins in her piggy bank. Afi-are quarters and nickels.
Their total value is $16.15.

a) Write a sys f equations to describe this situation.
QL/%N—’/S( 25 @=75-N
7.25® +.05N = [(0.15

b) How many of each type of coin does she have? Q 7§ I 3

_ V=62
— 25 -. 25N = 7S

A9Q +.OSN= 1b.15 —
".aON:— __3 (DO NICKL(s

— a0 —al
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